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SECTION - A

i) General Awareness

Which of the following State has recentty

launched the “Paudhagiri Campaign”
for planting of saplings to increase the
green cover in the State ?

(A) Rajasthan

(B) Chattisgarh

(C) Haryana

(D) None of the above

What is the main objective of the

World Wide Life Foundation's “TX2”

program ?

(A) To double the population of Tiger
Shark by 2020

(B) To double the Tiger population by
2022

(C) To double the Tortoise population
in the pacific ocean

(D) None of the above

Which of the following missile system
will be acquired by India from US to
create the ambitious multi-layered
missile shield over Delhi, along with
the Israeli, Russian and home-made
systems, to safeguard the capital
against aerial threats ?

(A) NASAMS II

(B) Dhanush

(C) Agni-Vi

(D) None of the above

4. Which of the following statement/s

is/are true with reference to the Indian
Regional Navigation Satellite System
(IRNSS) ?

1. ltis a set of satellites which together
can provide India a regional
positioning system similar to the
GPS

2. IRNSS also extends its service upto
1500 km beyond India's boundary

(A) 1only

(B) 2only

(C) Both1and?2

(D) None of the above

What is the State animal of Haryana ?
(A) Asiatic Lion

(B) Black buck

(C) Nilgiri tahr

(D) None of the above

Karma Bhumi is the crematorium of
which one of the following former
Presidents of India ?

(A) Rajendra Prasad

(B) V. V. Giri

(C) Dr. Shankar Dayal Sharma
(D) Neelam Sanjiva Reddy

What is the administrative capital of
Malaysia ?
(A) Tripoli
(C) Havana

(B) Putrajaya
(D) Ottawa
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She was an Indian Politician and Supreme
Court lawyer. She was the second woman

to hold the office of Ministry of External

Affairs after Indira Gandhi.

The above mentioned lines explains who
among the following women Politicians of
India ?

(A) Nirmala Sitharaman

(B) Sushma Swaraj

(C) Smriti Irani

(D) None of the above

Research and Analysis Wing (RAW),
is an intelligence agency of which one
of the following country ?

(A) India (B) Russia
(C) Australia (D) China

National Sports Day in India is celebrated
every year on

(A) August 2nd

(B) September 22nd
(C) August 29t

(D) None of the above

Which of the following clauses of
Memorandum of Association is to be
signed to considered as member ?

(A) Capital clause

(B) Objective clause
(C) Subscription clause
(D) Liability clause

Posting of Secretaries in the Ministries

and Departments of the Central

Government are made by

(A) Prime Minister

(B) President

(C) Cabinet Secretary of Union
Government

(D)

Ministers of respective ministries
and departments

13.

14.

15.

16.

17.

18.

19.

20.

- (C) 10 months

Including public and private company, a
person can be Director in as many as

(A) 10 companies (B) 15 companies
(C) 20 companies (D) 25 companies

Quorum of Board of Directors in the
meeting of Directors is

(A) 1/3 (B) 1/2
(C) 1/4 (D) 1/3or2

After the formation of company,

* first meeting of Directors should be

conducted within
(A) 10days
(C) 25days

(B) 15 days
(D) 30days

Notice is to be served to the Member or
Director prior to the general meetings of
company before
(A) 20 days
(C) 31days

(B) 21 days
(D) 25 days

The company have to start business
after getting incorporated in

(A) 6 months (B) 8 months
(D) 1 year

The number of votes required for the
passing of special resolution is

(A) 51% (B) 75%
(C) 65% (D) 2/3%

The number of meetings of Board
of Directors should 'be called by the
company in a year is

(A) 2 (B) 3

(C) 4 (D) 6

Recently G20 Summit held in
(A) Shanghai

(B) Osaka

(C) Toronto

(D) Seoul
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i) General Intelligence and Reasoning Ability

Select the pair that has the same
relationship as the original pair of
words.

Sorrow : Misery

(A) Love : Obsession

(B) Amity : Enmity

(C) Happiness : Joy

(D) Enemy : Hatred

Find the odd member of the following.
(A) Wife

(B) Bachelor

(C) Widow

(D) Spinster

How many pairs of letters are there in
the word TERMINATE which have as
many letters between them as in the
English alphabet ?

(A) None
(B) One
(C) Two
(D) Three

In the following series of numbers, find
out how many times 1, 3 and 7 have
appeared together, 7 being in the middle
and 1 and 3 on either sides of 7 ?

2 9313 T 71 33757 3°8
571377173906

(A) 3

(B) 4

(C) 5

(D) None of these

25.

26.

27.

Arrange the following words as per
order in the dictionary :

Necrology
Necromancy
Necropolis
Necrophilia
(A) 2,1,4,3

g P e

(B) 1,2,3,4

©) 1,2,4,3
(D) 2,1,3,4

Vishal is elder than Akash but younger
than Subhi, Yaksh is younger than
Deepak but elder than Akash. If Subhi
is younger than Deepak, then who is
the eldest ?

(A) Akash
(B) Vishal
(C) Subhi
(D) Deepak

Select the correct combination of -
mathematical signs to replace ‘s’
signs and to balance the given
equation.

24 ¥34*2 %5 %12
(A) ++x=
(B) =++-
C) =+—+
(D) ++=x
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(A) 3 : I 2. Necromancy
(B) et i 3. Necropolis
(C) Geft: amg 4. Necrophilia
(), S A) 2,1,4,3
Freaferfia 1 @ vt e g | Gl
(B) FHoI (D) 2,1,3,4
(C) faeman
(D) wrferanfea 26. W o s R g Pt A BRI R |
— 3iue ¥ 981 Bl § W SR A S ¢ | I
¥5e TERMINATE ® 318 o fohaet gm

¥, o ofver 3o € vam 3 o oS
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(A) g8

(B) TH

) A

(D) =

Fraferfea e saen § et w1, 3
3R 7 U WY AR | T8 ot 39 wewr o6 7
st 1 21 3 35k g1 9 1 M3/ ?
29831.78777.183831738
571377173906

(A) 3

(B) 4

C) &

(D) T & I T

el.

AuF A PH BRI e, NERA T HAR ?
(A) ATHET
(B) T

(€) Bt
(D)

fow T G ) G R o * 6 e
i gicentia 3 o fere mivrt forml 1
T FaE g |

24 %34 *%2*5*12

(A) ++x=

B) =++-

©) =+-+

(D) ++=x
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There are six children playing football,
namely P,Q, R, S, TandU.Pand T
are brothers, U is the sisterof T. R is
the only son of P’s uncle, Q and S are
the daughters of the only brother of R’'s
father. Then how is S related to P ?

(A) Uncle
(B) Sister
(C) Niece
(D) Cousin

If 27 March, 1995 was a Monday,
then what day of the week was on
1 November, 1994 ?

(A) Sunday
(B) Monday
(C) Tuesday
(D) Wednesday

Raman starts from his house and goes
towards 15 m North, then he turns his
right and walks 30 m and again he tums
his right and walks upto 30 m to reach a
temple. In which direction is the temple
with respect to Raman’s house ?

(A) North-West
(B) South
(C) South-East
(D) West

31.

32.

Eight persons A,B,C,D,E,F,Gand H
are sitting around the circle as given in
the figure. They are facing the direction
opposite to centre. If they move upto
three places anti-clockwise, then

(A) B will face West.

(B) E will face East.

(C) H will face North-West.
(D) A will face South.

Assertion (A) : In India, the judiciary
is independent of the executive.

Reason (R) : Judiciary favours
the government and helps in the
implementation of its plans.

Choose correct alternative for the above
Assertion and Reason.

(A) BothAandRaretrueand Ris
the correct explanation of A.

(B) Both A and R are true but R is
not the correct explanation of A.

(C) Aistrue but R is false.

(D) As false but R is true.
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(A) ==t
(B) =&

(C) wefisht
(D) ==l e

Ife 27 1=, 1995 I GIHaR A1, 1l 1 TG,
1994 ! TATE I shi -1 {7 o ?

(A) Taar
(B) EMaR
(C) WIeER

(D) gHaR

T 379 X/ Y6 o 15 Hiet ST Al 3R
e 21 o 37 2R gga 30 Wiex s
2, T g1 gea 30 Hiet Setat Uah Hist dh
Tgaal 8| T S e A e e w 7

(A) Iw-ufE=m
(B) aftror
(C) -
(D) dfEem
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Statements : Some dogs are cats.

All cats are pigs.
Conclusions : |. Some cats are dogs. |

Il. Some dogs are pigs.

Choose the correct alternative for the
above statement and conclusion.
(A) Only conclusion | follows.
(B) Only conclusion Il follows.
(C) Both conclusions | and Il follows.
(D) None of the above '

Replace the question mark (?) in the
series with correct option.

4,5,7,11,19, 35,2
(A) 67
(B) 76
(C) 55
(D) 45

Town is related to village in the same
way as urban is related to

(A) City
(B) Metropolis
(C) Rural
(D) Semi-urban

‘Sympathy’ is related to ‘Virtue’ in the
same way as ‘Cruelty’ is related to
(A) Vice

(B) Kindness

(C) Emotion

(D) Animosity

37.

38.

39.

40.

0 0 A

In a certain code, the word HAND is
written as SZMW, then what will be
the code of MILK in that code ?

(A) ORNP

(B) PNRO

(C) NROP

(D) RNOP

A bird shooter was asked how many birds

he had in the bag. He replied that there
were all sparrows but six, all pigeons but
six and all ducks but six. How many birds
he had in the bag in all ?

(A) 9
(B) 18
(©) 27
(D) 36

There are deer and peacocks in a Zoo.
By counting heads they are 80. The
number of their legs is 200. How many
peacocks are there ?

(A) 20 (B) 30
(C) 50 (D) 60

If ‘A $ B’ means ‘A is the father of B’,
‘A * B’ means ‘A is the mother of B,
‘A @ B’ means ‘A is the wife of B,

then which of the following means
‘M is the grandmother of N’ ?

(A) MxT$N @R
B) MxT$R@N
(C) MxR$T@N
(D) MxR@T@N
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(A) R

(B) WEMT
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(B) AT

(C) waT

(D) gt
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% fifvaa e #, w58 HAND &t SZMW
forar stran 2, o € %2 # MILK & 3
FIoG HU ¢
(A) ORNP
(B) PNRO
(C) NROP
(D) RNOP

e Fadinm @ ye1 e o 3ues Ot fohaa
el & | ST S R frIur vm ®: &+
sremar oeft fufea off, ®: % semEn asft
TR A 3 S: o ferrar gl s o | 39
I S e TR ueft o ?

(A) 9

(B) 18

() 27

(D) 36

wah Fafeamer & fewr s ar ® | i 6t
TEAT 80 & | 7o T <l G&AT 200 € |
R AR E ?
(A) 20
(C) 50

(B) 30
(D) 60

IRASB FILR A BF U@,
‘AxB H LT A BHRIAET,
‘A@B #E A BHRIUET,

At Frferfaa @ forgerr ard @ o6 ‘M, N
e ?

(A) M*T$N @R

(B) M*xT$R@N

(C) MxR$T@N

(D) MxR@T@N
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ili) Arithmetical and Numerical Ability

If adulterated milk of 20 litres contains’

6% litres of pure milk, then the ratio of
pure milk to water in the mixture is

(A) 11:5

(B) 10:3

)1 5511

(D) None of these

If 6 chickens are worth 3 hens, 7 hens
are worth 4 geese and 5 geese are worth
2 peacocks, the price of 7 chickens
when a peacock costs 20 dollars, is (in
dollars)

(A) 16

(B) 12

(C) 31.5

(D) None of these

If a ladder of 5 m long reaches a window
3 m above the ground, then the distance
of the foot of the ladder from the base
of the wall is
(A) 4m
(C) 8m

(B) 3.5m
(D) 2m

A and B can do a piece of work in

12 days; B and C can do the same
work in 15 days and C and A take

20 days to do the same work. The
number of days taken to complete the
work if all 3 work together, is

(A) 12 days (B) 10 days

(C) 9days (D) None of these

45.

46.

47.

48.

49.

50

A class room is thrice as long and four
times as broad as another. The ratio
of their areas is
(A) 1:11

(C) 1:12

(B) 2:23
(D) 3:14

The fractional form of the recurring

.decimal 0.131313 .... is

; 13

® o ® 1o
13

© = © 9

If 2X — 2X~1 = 4, then xX is equal to

(A) 7 (B) 3
(C) 27 (D) 9
The value of \[6+,/6+‘/6+... w0 IS
(A) -3 (B) 2
(C) 3 (D) 4

The roots of the equation 3x° — 14x + k=0
will be reciprocal of each other if k =
(A) -3 ® o0

(€C) 3 (D) 14

A garden has 6 tall plants in a row. The
number of ways 5 children stand, one
in a gap between the plants in order to
pose for a photographer is

(A) 24 (B) 120

(C) 720 (D) 30
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42.
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T feTTaeyge g4 % 20 et & G%Fﬂt{

YW, A i g w s
U B

(A) 11:5

(B) 10:3

(C) 5:11

(D) 3 © IS 7@

afe 6 gt i Fma 3 gffat, 7 gfitat
$raa 4 &4t et 3 5 at it fima 291
Rt 8, afe weh A it Fima 20 e ?, @
7 FSit <t i ® (Sler H)

(A) 16

(B) 12

(C) 315

(D) T & I3 T

afe sifw & 3 i, it v Ragdhit w sk
5 Y. el Hidl ugad 7, T SIaR % IR
qdid & e e A gl ®

(A) 44, (B) 3.5

(C) 8Hi. (D) 2.

Ife A 3T B U 1 =l 12 & # s wera
%, B 3R C 3¢ % w1 15 fo7 8 ot v
€, C 3 A 3¢ft =6 =t 20 et o & wara
2 | =i fH u ary e 8, 9 fea

71 8 3 el g R 3 7
(A 12f= (B) 10T
(€) 9fe (D) T A HE ARl
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45. o e i TS qEdl e A i O 37

46.

47.

48.

49.

50.

SISTS AR TUT & | 37k Sl 1 3T §
(A) 1:11 B) 2:23
(€)1:12 (D) 3:14

3l eIMed 0.131313 ... Ti=ees
LA

13 13
(A) 700 B 7o

13 13
(©) 78 D) g9

R oX_oX-1-4 §, qAxX FH
(A) 7 (B) 3
(C) 27 (D) 9

6+ 6+ 6+... cIEFE

(A) -3 (B) 2
(C) 3 D) 4

HHTERT 3x2 — 14X + k = 0 o HeT T GHL 1

ek Bl afe k =
(A) -3 B) 0
) 3 (D) 14

i s e M T A R A S |
for 3% fore w2 B 2 397 6 v 5 el
I GST HH o TLiehl hl T B

(A) 24 (B) 120

(©) 720 (D) 30
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52.

93.

54.

. 55.
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In how many years, the simple interest
on a certain sum be 0.125 times the
principal at 10% per annum ?

(A) 1% years (B) 1% years

(C) 2‘—} years (D) 2-3— years

If a sum of money doubles itself in
15 years, then the number of years in
which the sum becomes 4 times itself
at certain rate of S.l. is

(A) 42yrs (B) 43yrs
(C) 45yrs (D) 60yrs

A bag contains 187 in the form of
1 rupee, 50 paise and 10 paise coins
in the ratio 3 : 4 : 5. Then the number
of coins of 1 rupee, 50 paise, 10 paise
are respectively

(A) 102, 136, 170
(B) 136, 102, 170
(C) 170,102, 136
(D) None of these

A certain number is 4 times the sum of
the digits. If 18 is added to the number,
the digits will get interchanged, then the
number is
(A) 24
(C) 36

(B) 42
(D) 18

. -b . .
If sin6=2"2 then tan 6 + sec 0 =
a+b

a+b

(A) B) Va-pb

(C) (D) 1

S

b

;B
b

56.

57.

58.

59.

60.

A village, having a population of 4000,
requires 150 litres of water per head a day.
Ithas atank measuring20mx 15mx6m
dimensions. The number of days water
of this tank will last is,

(1m3 = 1000 litres)

(A) 12days (B) 5days

(C) 2days (D) 3days

For every positive integern, 7" — 3" is
" divisible by -

(A) 3 (B) 5

(C) 4 (D) 10

A fair coin with 1 marked on one face
and 6 on the other and a fair die are
tossed together. The probability of
getting a sum 3 is

2 8
A 3 ® 13
(C) % (D) None of these

The perimeter of the triangle formed by
the points (3,—1), (5,2)and (-1, 2) is
(A) 11++/13 units

(B) 5++/13units

(C) A3 units

(D) None of these

If sinx + sin®x = 1, then cosx + cos?x =
(A) 2

(B) 3

(C) 25

(D) 1
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51.

52.

53.

54.

55.
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(A 15 T4

forem =t |, wes Ui W Emam =9 10%
Sifdl o ol S 0.125 o7 & e ?

3
B8) 13 Ci]

(©) 2% EL (D) 2%3&
Ife waH Tl 15 98T A @ R AT R A 2,
ar forae It o 9 TS T I B ww
FAfeer o0 R e it = e & st 7
(A) 42734 (B) 4334

(C) 45 (D) 60ad

Tk S H 1 FqT, 50 9 3R 10 Y8 & e
F3:4:5FFARTTI AT 187 E, o
139, 50 ¥, 10 W& s R A aen g
(A) 102,136, 170
(B) 136,102, 170
(C) 170,102, 136
(D) ¥4 & IS &l

e fAfera w36k 3ieht o A h IR
2 | afe 3@ g@n 1 18 S i ], @ 3h
FUET T A9H | sed ofd &, O e

(A) 24 (B) 42
(C) 36 (D) 18
aft sino =20 g, dltan 0 +sec O =
a+b
. ath
A 3 ®) Va p

a

©) b (D) 1

56.
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58.

99.
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(€) 2f&= (D) 3fA
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W fsa & |

B) 5

(D) 10

(A) 3
(C) 4
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IS ST & | 3 1 AT ST Y 1Tk &

2 5
® 3 ® 1

©) — (D) T &

12
fagedt (3,-1), (5,2 3l (-1, 2) T A
BRI DR

(A) 11+13 T

(B) 5+13 s

©) V13 =i

(D) =70 @ IS &

I sinx + sin?x = 1, df cos?x + cos?x =
(A) 2

(B) 3

(C) 25

(D) 1
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62.

63.

64.

65.

66.

67.
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iv) Hindi Language and Comprehension :

ﬁ-‘q‘iw
qﬁmﬁaﬁmw < T

(C) TSR Gl
(D) (A) @ (B) I

AT =T T $H ST o gae €9 8
(A) STgEEATE  (B) WA TR

(C) TY=™™ (D) WA

ST |1 e o T 39 RaL o o7 §

(A) U T (B) ¥ ST

(C) AfSSae M (D) & & I@HT

3T : 3D : : Al Ay

(A) T B o

(C) I (D) 3=

T A T v S o wge dar e ?

(A) Ut (B) =reft

(C) wareht (D) Ty

WA Je e WA T T8 Th
M R |

(A) JESEEH (B) Fsa==

(C) Fremams (D) wauEE

Torerss gro foreft sroft 2 vl 1 gewe

EiEyEed, 3@ wEde |

(A) o (B) Sifd

(C) == (D) I

68.

69.

70.

ﬁmﬁéﬁmm‘émﬁﬁm
FH | foetge @ad &, 98
FH BT |
(A) (B)
(C) e (D) =t
¥ focim a1 =t sea farflaw |
') W %) HR
) HEA ) W
3) 3&d M) 9
3) S ) IS
3) g %) fafa
A M T 3T 03
AT ® T @ W
BT T % W. U
©% ¥ 7T ¥ @
D@ & § 7T ¥
et ferfae
LERL L R GO AR |G )
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) FEEEE @) WY
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ENEL i o foremeff &
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C % @ T T
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‘areft’ 9% W TEEETEI R
(A) wrieRT (B) wreft
(C) wed (D) erefat

T A A e e T R ?

(A) SHGaT=T Gahteh TR TFHE GHI ThR
6 foraat # = B

(B) Harsd TeFHE IR A ST TR
i foredi d BT 2

(C) FHar=a Faet Gertes et H T ®

(D) STaaT=a Fac e BRIl 3 aa &

‘greft’ o W FAATT HI B

(A) wmedt (B) wferT

(C) wferh (D) Erefif

v wuTe o ger vsg W U e ©

3 _ TEFEdT |

(A) IR (B) 8

(C) wgsiife (D) 3rivE

@Wﬁlﬁéﬂl
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78.
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Fgsife gam § T Ug THH
TR ?

(A) &l

(B) g +ff 92 wuH T B
(C) =|u

(D) BHivg

‘WG TRIBS Jeard
AR

(A) T FATH

(B) Yot

(C) wfdwer adam

(D) EFTE FAHH

Tel e g |
(A) e
(B) Fafh
(C) wfa
(D) wagHt
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v) English Lapguage' and Comprehension

ST v e |y

Use appropriate preposition to fill in the
blank :

81. Ourhouse is _the
supermarket and the school.
(A) among (B) between
(C) in (D) at

Add suitable question tag :

82. There aren’t any animals,
(A) arethey?  (B) aren’tthey ?
(C) arethere? (D) dothey ?

Choose the sentence which has an errorin it ;

83. (A) We had a brake between classes

(B) The cold air affected him greatly
(C) He succeeded in his attempt
(D) No one likes his pride

Choose correct one word substitute for the
following :

84. “Someone who is very brave and
willing to take risks”

(A) gallant

(B) coy

(C) devotee

(D) none of the above

Choose appropriate modal/semi-modal to fill
in the blank :

85. Walking under a ladder

be unlucky.
(A) is suppose to
(B) should
(C) oughtto
(D) is supposed to

-18-

Fill in the blank with appropriate preposition :

86. What's the chance
five heads when you toss a coin five

times ?
(A) of getting (B) to get
(C) of get (D) get

Fill in the blank with correct phrase from the
options :
87. He
(A) takes up
(B) takesin
(C) takes after
(D) takes off

his father.

Select the correct proverb which has the given
meaning :

88. “Be safe and cautious and don’t stake

everything on one particular thing.”

(A) Don’t put all your eggs in one
basket
(B)

Every cloud has a silver lining
(C) All that glitters is not gold
(D) There is no smoke without fire

89. “People of the same sort will be found

together.”

(A) A man is known by the company
he keeps

Birds of a feather flock together

(C) A bird in hand is worth two in a
bush

None of the above
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90. “Make a difficulty seem greater than it
really is.”

(A) The pen is mightier than the sword
(B) Too many cooks spoil the broth
(C) To make a mountain out of a

molehill
(D) None of the above
Identify the tense of the given sentence :

91. “The doorbell has been ringing for the

past five minutes.”

(A) Present continuous

(B) Present perfect

(C) Present perfect continuous
(D) Past perfect

92. “Rain falls from the clouds.”
(A) Simple present

(B) Present progressive
(C) Simple past

(D) Present perfect

Fill in the blanks with correct verb which agrees
with the subject :

93. Some of the houses dark
and dingy.
(A) has (B) were
(C) was (D) is

- 94. There a lot of streams in
our country.
(A) are (B) is
(C) was (D) has

Identify the underlined word :

95. The soldiers fought bravely.
(A) Relative pronoun
(B) Adjective
(C) Adverb
(D) Preposition

MKG-XXVTECHTAH/1T/04

Choose the appropriate verb form and fill in
the blank :

96. When | séw the vase on the
website, | knew it was exactly
what |

(A) looked for

(B) look for

(C) had been looking for
(D) have looked for

Choose the wrongly spelt word :

97. (A) LEIZURE
(B) ANXIOUS
(C) IDLE

(D) ANNOYED

Choose the correct synonym of the given
words :

98. Deception
(A) Cheating
(B) Entertaining
(C) Teasing
(D) None of the above

Choose the antonym of the given word :

99. Asset
(A) Liability
(B) Property
(C) Information
(D) None of the above

100. Detrimental
(A) Sure
(B) Attract

(C) Beneficial

(D) Praise



MKG-XXVTECHTAH/1T/04

101.

102.

103.

104.

105.

000 0 A

SECTION - BT -/
Post Specific Subject-Related Questions/ U Tafaferes fawa — waeft wg=

forg argame & q& & we’, SN, A
3MfE W &M 7 S 91e, 3719 A1 faem ©
e o sman @ SR It o aea H
T Fd 7, T€ AT ©

(A) YseTgae  (B) SHETIAR

(C) |mrgaTs (D) HraTga™

=) wrfecs & gfoera @ dem
T o GHT ! HEIHTA o 19 © STHT STl

Bl
(A) 1375 & 1900 (B) 1300 & 1700
(C) 1700 & 1900 (D) 1125 ¥ 1895

forg-Te-sma &1 feE uEr TE 3
EaRdl
(A) HEREH

(C) Foditem™

(B) wmgdt
(D) =™

EHIC 61 T B
(A) FerdremE

(B) Felita™

(C) HfcTeh HEHg SR

(D) HLe™

Mg % antfzal 8 fega
i qun Agfees @i ydiel 6i a8
e ® e g Rt v e &
T ey # ferem - fafma e )
(A) Yo% (B) avi
(C) fafu (D) W

106.

(C) ahveafa

107.
- (3) Schedule
(A1) Procedure

108.

109.

110.

TR ST T@d g sft, T v
o T UTT STHaT 9197 o i €9 i
FEd &

(B) it

(D) TftsmT

(A) fo=mw

Sirgert e :

() wfafer

(@) -

(3) Routine note  (7T) 313, @ROf-u=

(%) Alderman (&) 9mEh

(3) Administrator () Tft St
feoofy

@ @M 3@ 6 6
T FF T T T
(B) & T % W ¥
(C) m % § W ¥
=% T T ¥
_ seEHefNusIERUHEE
ey T @ gE-forer & Frehe St 2|
(A) & (B) =sH
(C) 3R (D) 3T
?ﬁ'q'('*'l :EﬁmﬂﬂT : :ﬂﬁ:
(A) Tkt (B) Tsh
(C) %ehTS (D) THIEE

foerdl & QI8 1 E® & R F=b Fa

T ?

(A) ShHIf<IsRI B4 o ST

(B) B B | TR 9T W A & HR

(C) dR I e 3@ TgIH o FHR

(D) s =M % 71 % q¢ W for@ s &
Catu|



: 5z i

112.

113.

114,

115

116.

117.

-21-

e fhd FEd € 7

(A) TSI T AT AT TT3h

(B) Tirram

(C) waurdt

(D) &ea | SEaTe

TG I16% ohi FaTash 61 8 TGHE, @ HE'
¥1sg 1 hjalrereh T &l

(A) §sTg (B) &sd

(C) dfea= (D) HSFHS
W:‘(ﬁ?::ﬁi’:

(A) o= (B) @a

(C) == (D) =

7 e ?

(A) =d &z (B) IEH NEH
(C) Wga& (D) @M
3ftforey foem ==t e orar 2 7
(A) o=H &Hg  (B) WE dleaie
(C) we =+ (D) =T YgE
T 9 T LS HIHE © 7

(A) Terer (B) uform

(C) gE™ (D) Tamafa
Sitga forfam :

(1) g T|  (F) SR

@) THE T (@) faemafy

3) Hfdwaen (1) TCaEs

@) GEUITE () I faeE
@ @M e @)

A® T @ ¥

(B) &= SWqimTg

C) ™ ® @ ¥

s % @ T

118.

119.

120.

121.

122.

123.

MKG-XXI/TECHTAH/1T/04
W@_mmﬁw%l
(A) arfesra (B) WEgEHTA
(c) Hfdee (D) TegfhenTet
Aot ifeper fore FETSITAT R 7
(A) g™ (B) H&E™
(c) fermmufa (D) wRgE
31 @ e i grE A AR ?

(A) sftsreh (B) @R

(C) WINEe! (D) difeed el

Sirga forfian :

(31) T (%) BTHY YR
o

(@) IS T A (@) W=

() B tEs m)gﬁw
(@) sTorTg Y ScHRAT () 3R
@ M @ .¢)
AT T ¥ &
B % @ ¥ T
© @ ¥ T &
M@ T & |
QT Y62 i WA TR
(A) gUoTEr (B) gufrh
(C) I (D) dHferR
QNI H SFed Tciieh sqaeT ohi ASIHTST
1 &S Yelieh Sqaed ¥ BYTANT A
F4 2
(A) 9 ufEda
(B) 31gare
(C) T yfiEd
(D) UG EUTA



MKG-XXVTECHTAH/1T/04

124.

125.

126.

127.

128.

129.

TS | HITHTNT 913 5 et
w9t yfereenfua fomm strar 2 | S
& STHRT 37 ITseTaet] i off e &
TR 3TN STeaTaret! 3 THeHE g Squidr
o yfereenfg s e sman ® |

(A) TwIa e (B) Feg srgae
(C) AR A (D) YeArgas

Frafafaa & & Fe sgae &1 ygw 91
T
(A) i (B) &KX

(C) it A yesHH (D) |

FTfraTd % TIEY & areT-=raEdi §
B ERANREDIRICIR

(A) sferue®d  (B) MY

(C) T HiqR™ (D) HYU 1R

ToShieHH, F1 ga1d aaR A
am @ R A ergae R R

(A) T=ST 1 @A
(B) fugt el
(C) Wy i umE
(D) WS I HIAT

AR H HIqHTET 6l a1
ST % & TSI ol AT SIS

TR |

(A) WTETATE (B) SHTATE

(C) T (D) YERA]

form ard #t gHgm 9 g ard e A v
T FEd & |

(A) 3fsren (B) w&rom

(C) =T (D) ArTEg

130.

131.

() IS (W)

132.

133.

134.

HHT YTt ¥1eg 3ht forer feufar & wffira
T 2

(A) b fam  (B) sratew

(C) fu== (D) g™

Sirga forfiu

(1) FWRAITE (F) To throw trump
card

An apple of
discord
Acryin
wilderness

To poke one’s
nose in others
affairs

(3) TR FFHH (8) To be atdaggers

() g =<t =T ()

() F fereett & (®)
A

AT ASHT drawn
@) (=) 3) (G Q)
A @ T T F H
B @ T F T ¥
© 7 ® ¥ ¥ @
@ 9 T & T d@
forg fowg o wrwn o1 S StewEE @
§,3/_ FEde|
(A) yifagE (B) waffesm
© TifEm (D) frwEw
o 3 Y welify AT 58 e H
FEd ® |
(A) T (B) Ta
(C) =T (D) w1ed
YH<IE il Yedl {6l 399
(A) & Ted (B) A
(c) fnfem (D) TEH



135.

136.

137.

138.

139.

140.

TEATET % A § 4 33 3 =
e a7

(A) SueiE (B) ¥

(C) I (D) SUftvaTy 1]
‘FehleT T8 FITAE R |

(A) SAETEE (B) AT

(C) TS (D) Yu=E

g ferfan

(31) IUTAY ITF () AT
(311) Fe9TA (@) Tug

@) e Pt e ()
EE(C|

@) TowEE s (@) R

(3) e gt () ™ TE

@) (M) 3 G) @
A F &F T ¥ @
(B) & T 9 % @
(C) = ¥ g g 7

LC)

Temamafor 3R foramr—<fteft foreh g0 foran
LRIREC R DR

(A) e e fadt

(B) =T TWEZ Y&

(C) = FegaR TSt

(D) efereR T

R Yo o e e T TR g ?
(A) frmsmi  (B) WerRd ami
(C) Tmge sHIgh (D) farsy st
TYritTE ged &9 | fohaa € 7

(A) & (B) 3
(C) dr= (D)

©®¥F ¥ & T

141.

142.

143.

144,

145.

146.

MKG-XXVTECHTAH/1T/04

i fe=t o1 I gEre FEdn © ?
(A) SR S9E

(B) YH=iE

(C) Tadt=Rr Ut

(D) TwivETe feae

o @ 1 wrfivE @
(A) 3 (B) ™
(C) 3cur® (D) fae™

SRR 91E e e |

(A) fauma (B) TRy
(C) ¥ (D) HeTl 9
g fafa :

s frg=
(@) WEdlede (%) ANEFER
() VFF (@) yfFmEm
@ weTE (M) Igfufdam
() fFaTE (%) eafvars

@) @ 3 @6
(A) H T LG +
B % @ T g
C @ & g i
(D) ™ g ED Hq
FAHR GYEH T Tadh HH & 7
(A) g (B) W
(C) &z (D) AfFTa T
e IURY 3R ImE A 9 7 @, A 99
_ IEHRE R |
(A) 39aT (B) &

(C) A& (D) &y



MKG-XXIVTECHTAH/1T/04
147. e faRau
' E 1D C) ™
(31) () W
(31) e @) U
@) e (m) dnreE
) fa= (=) 3T
@) F4 () Fm
@) (m 3 6) @
(A) & ¥ @ ¥ T
(B) ® T g & @
C) ® T % ¥ @
D) @ FF T ¥ T
148. ‘s1fya e fore Fed 8 7
(A) GE™ (B) i ga
(C) formufa (D) St
149. THER@IHE R @R 7
(A) o™ (B) Hw&™
(C) weltEr™E (D) fearmmufa
150. ‘98 Aled] Uee Hid #eg
(A) 9 (B) SIS TETE
() Tuem (D) wered amt
151, ‘Tq-GauI $H A1EH o AIEHHN 8
(A) WA Biwa=
(B) WUfivartTY 0]
(C) BIHIvETE fgadt
(D) WerER yare fgadt
152. IR YHIE d T WH
qEEH R |
(A) dmTRIH (B) T=Tfaeh
(C) wiawte (D) et

-24-

153.

154.

155.

156.

157,

158.

159.

(3)

| 00 O O

GG g & S i © ?
(A) I ImE (B) WER
(C) TR (D) el

Todd’ o T &
(A) T
(C) werd amt

m%ﬁﬂ
WA-TR  (F) WRAg R
(3) ST (@) SR JE9TE
@) goeEt () e R
@) ST () Hied THY
@) () 3 G)
(A) & g 2|
(B) & T
C) H T
(D) = Ec|
FehITad Fl HIATHT FIH HHAT © 7
(A) I=A (B) e
(C) F=ih (D) . AHEaH

AIEAYES & TR &

(A) wrEE fey  (B) wE gF
(C) oam (D) WewRE

ARETH % G o

(A) gfaasie (B) ftEE =
(C) 3= (D) T @™
el % GFAT i e FET T 2 ?
(A) ST JE]

(B) gforaed qa

(C) Hehra Bret e

(D) 3T

(B) W
(D) SRS JETE

q
h
h

~H a6 o 4



160. 398 @ FHT ITATH JwEE HI AR R 7
(A) afasm (B) S
(C) FrTHcd (D) SFATET H 9w

161, fFrefefaa ==t &t oe=s! @
SifeT ;
@) A= (%) <. wiedw

i
(311) wrferera 6t
e (@) <. Fx
(3) T e WREEERIES]
§) "o T
AR (9) HEER g4©
oot
(3) Wl R W (F) s sy
@) (M 3 @ @E)
(A) & ¥ @ T %
(B) #® e i - e
C) @ % T ¥ ¥
(D) & ¥ T @ &
162. Tfdswer it wow = T T
STt 21
(A) ¥ 1600¥ 1700 Th
(B) &9 1600 ¥ ¥ 1850 T
(C) & 1500 ¥ 1900 T
(D) &9 1400 ¥ § 1800 TF
163. THHTSERT & TR &
(A) godiem  (B) o
(C) HIEE™ (D) {ATYfa
164. 30 @ FE FHio ST AT R ?
(A) Tt (B) WyHTerdt
(C) T (D) 3t ey

MKG-XXVTECHTAH/1T/04

165. It re¢ o1 rAfeTET

(A) St (B) S
(C) uftrmt (D) SweH
166. Gﬁw%ﬁﬁQ
LERRIECT aEE
(1) w (%) WRAg Ewes
(3TT) IHEHEFHT (@) AT HEER
g fgadt
@ xS
(F) FAaEg (%) SEF AE
@ @ 3 @)
(A) @ T q Ed
(B) T q & g
€ % g T
(D) % el EC|
167. 0 FIH! Fid SA A L 7
(A) TR : T Sfa
(B) & H
(C) smaregdion
(D) TR T
168, T : UG : : foreh : (raT=eh
Toreor 3182
NREEIEEI (B) o
(€) == (D) Tommree
169. Agenda % fore @& urfeiye: fewt w/ec B
(A) feoqoft (B) ufafer
(C) IR (D) g
170. Advocate ¥/s< % foTu a9 3e2 ©
(A) Freeas (B) 3feraern
(C) s (D) SUgH



MKG-XXVTECHTAH/1T/04

Read each sentence to find out whether there
is any grammatical error or idiomatic error

in it. The error, if any, will be in one part of

the sentence. The option of that part is the
answer.

171. Despite of (A)/elaborate search
operations (B)/the police could find no
trace (C)/of the missing girl (D).

172. The magician, who has been (A)/using
his talent for make the public aware (B)/of
various social issues, is confident (C)/ that
his mission would be a success (D).
173. The cost of constructing (A)/ houses are
increased (B)/ because of the high (C)/
price of cement (D).

174. Being a (A)/ cold day | (B)/ did not go
(C)/ out of my room (D).

175. Neither (A)/ food nor (B)/ wine were (C)/

served (D).

Supply suitable prepositions from the given
ones (where needed) in the blank spaces in
the following sentences.

176. Mrs. and Mr. Sharma have been in
Kanpur last August.
(A) from
(B) since
(C) on
(D) about
-26-

177. He gave us a general description of the
plan, but did not enter details.

(A) in
(B) into
(C) on
(D) about

178. . The tiger pounced the deer.

(A) upon
(B) on
(C) in

(D) none of these

Complete the following sentences by filling in
the blanks with appropriate article from among
the choices.

179. Hecanplay ____ flute.
(A) a
(B) an
(C) the
(D) none of these

180. Acowis

(A) an
(B) the

useful animal.

(C) not required

(D) a



Read the following passage carefully and
answer the questions given below it.

Once, a group of boys decided to play a proper

" soccer game. Each one of them would bring
something used in professional matches. So
one would bring the ball, another the whistle,
another the goalposts, others the goalkeeper
gloves, the corner flats etc.

But before the game started, while they were
picking the teams, they had an argument.
They collectively decided that the boy who had
brought the most important object would get to
pick the teams. Well, now they couldn’t decide
which had been the most important object,
so they thought it would be best to just start
playing, using all the objects and gradually get
rid of what people had brought, to see which
things were truly necessary.

The first thing they got rid of was the whistle,
because the referee could just shout instead.
Then they tossed the goalkeeper gloves.
Neither did they really notice when they stopped
using the corner flags, nor when they replaced
the goalposts with a couple of bins and so
they continued, until finally they replaced the
football with an old tin, and managed to keep
playing.

While they were playing with the tin, a man and
his son passed by. Seeing the boys playing like
that, the man said to his son “Look, son, learn
from those kids over there. They’re managing
to play football without a ball. They will never
be able to improve playing that way”.

-27-
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The boys heard him say this, and realised that
because of their excessive pride and egotism,
what could have been a great match had tumed
into a shameful display, which they were hardly
enjoying at all. That moment, they decided to
put their selfish opinions to one side, and they
agreed to start playing the match again, from
the start, and with all the proper equipment.

And it really was a great game. No one thought
about who was playing better or worse. Rather,
they just concentrated on having fun and
improving their game.

What did thé man who watched the
game tell his son ?

(A)

181.

He told his son to watch the match
and learn how to play soccer
(B)

He told his son to learn how to play
soccer by playing with the boys

He told his son that the boys were
an excellent example of team
work

(©)

None of these

(D)

182. Why did the boys decide to get rid of

the whistle ?

(A) The boys concluded that they could
play without a referee

(B) The boy who brought the whistle
wanted to be the referee and
dictate the game

(C) The boys decided that the referee

could shout instead of blowing the
whistle

(D) All are true
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183. Which of the following is not true as per
the passage ?

(A)

shameful display

(B) The boys argued about the

necessity of the ball only

(C) Theboys ended up discarding even

the ball and played with a tin

(D) The boys had an argument before

the game started

184. Which of the following is true about the

boys as per the passage ?

(A) The boys remained arrogant till the

end of the story
(B)

The boys were jealous of each
other

(C) Theboys aspired to be professional

players of soccer

(D) None is true

185. In the statement, “And it really was a

great game”, what was truly great about
the game ?

(A) The game was played with proper

equipment

(B) The game was played with the

correct spirit

(C) All the rules of the game were

followed while playing it

(D)

None of these
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The boys had turned the match into

000 A

(Directions 186 — 190) : In the following
passage, there are blanks each of which has
been numbered. These numbers are again
printed below the passage and against each,
four words are suggested, one of which fits the
blank, appropriately in the context of the whole
passage. Find out the appropriate words.

Sleep as a temporary 186 of consciousness.
Sleep 187 the body necessary rest and makes
it ready for further work. Sleep helps to 188 our
used energy. Sleep is 189 for continuation of
human life. 190 of this may lead to dizziness,

fatigue, anxiety, mental sluggishness, and poor
neuromuscular control.

186. (A)
(B)
(C)
(D)

suspension
manifestation
location
addiction
187. thwarts
provides
lengthens
facilitates

(A)
(B)
()
(D)
188. (A)
(B)
(C)
(D)

revamp
readjust
regain

register
189. (A)
(B)
(C)
(D)

purposeful
pertinent
essential
instrumental
190. vaccilation
disintegration
dislocation
deprivation

(A)
(B)
(C)
(D)
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Against each key word are given four
suggested meanings. Choose the correct word
or phrase which is in meaning (synonymous)
to the key word.

191. Magnanimous

(A) puzzling (B) generous

(C) foolish (D) unnecessary
192. Obeisance

(A) dignity (B) obstruct

(C) overweight (D) courtesy
193. Placate

(A) divorce

(B) make a gift to

(C) help :

(D) change hostility to friendliness
Against each key word are given four

suggested meanings. Choose the word or
phrase which is opposite in meaning (antonym)
to the key word.

194. Tardy
(A) notontime (B) sluggish
(C) dilatory (D) prompt
195. Uncouth
(A) awkward (B) crude
(C) unfamiliar (D) courteous
196. Recreation
(A) diversion (B) pastime

(C) make circular (D) boredom
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Pick out the correct nouns from the words given
and mark that as the answer.

197. Hampiis now a of ruins.
(A) group (B) crowd
(C) heap (D) galaxy

198. Numerous of ants could
be seen in summer.
(A) hives (B) nests
(C) swarms (D) group

Each sentence below has two blanks, each
blank indicating that something has been
omitted. Choose the set of words for each blank

| that best fits the meaning of the sentence as

a whole.

199. Many people believed that spices
help food; however nutritionists
found that most spices were of
having any effect on growth of microbes
present in the food.

(A) preserve, incapable
(B) produce, impossible

(C) save, preventive
(D) spoil, probable

200. Water-borne diseases are the most

causes of infant deaths
the world.

rare, according
regular, at

related, across
common, throughout

(A)
(B)
(€)
(D)
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13.

14,

15.

= [T

18.

19.

“This booklet contains 32 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

O®00

Wrong Method

0v00

Wrong Method

0®@00

Correct Method|

000

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

L 13.

14.

15.

16.

17.

18.

19.
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Go through instructions given in Page No. 1 (Facing Page)
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